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(16 marks for question 3)
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[bookmark: _GoBack]3.  They should sell at £13 because:

The case study states:

This is important because:

This would mean that:

This would lead to:

Therefore, meaning:

However:

They should sell at £15 because:

The case study states:

This is important because:

This would mean that:

This would lead to:

Therefore, meaning:

However:

Considering:

I believe the best option is:

It’s a better option because:

However, to what extent this decision is valid depends upon:
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h. Raw material costs are £4 per |

15 400 shirts at a price of £15 eacl s
e S . The coss ofproducig th 400 shirs areshown i Tab

W Table 1.4 Costs for atextile manufacturer
Raw materials 1600 | Heatir

Marketing costs 120 | Propertylrent | 400
Pover 8  [Wages | 2220

1 Calculate the profit made from selling 400 shirts,

# he retllerstha by the shit have sai that they wil buy 600 shirts f the price s reduced
10.£13. Caleulate the profit made i the textile manufacturer increases output and sales to 600
shirs, with the selling price at £13 per unit,

3 Using quantiative and qualtativ factors,

advise the manufacturer on whether it h
aprice of £13 or £15, e

(4 marks)

(6 marks)

(10 marks)





